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1. Fill in the blanks selecting the appropriate
terms given under each bit :

. - lri:a
202 3 (A) o geeie  zrace TUAIGARI  GegEe  aug
WAYATY QT gougie geda 99
BIOLOGY Q9°g 9E geiaIe Qf
(SEcTiION—A : BOTANY) (a) Entry of pollen tube through micropyle

durnng fertilization is called -
HYUF 4Pgea QIReg fUeew JdeUIeeIe

Fuil Marks : 35 geeag gEIKIg]
Time : 1¥2 hours
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fij mesogamy

T?teﬁgures in the n_ght-hand m.aryln indicate marks almag Egﬁg Qe

@d4 aigea g QB g9 RIS JeIas

Answer all questions serially and continuously from

(i1} porogamy
Group—A and Group—B as per instructions, and any two

S 89 Q9N
Srom Group—C within 200 words each
@ 0 o SRIQ IFIg g90 8Q grIgaca G FRops KIPER (i) chasmogamy
99 9—aRI0Q 6I6RIIT QRFR QRQ GEEYeE 9008 @ aGe a°ae
FrIcR @8

llustrate your answers with labelled diagrams and
examples, wherever necessary

ereve - oe8 aae
2IGYR gee RIS e 6§ 8 QeIead 08 8
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fiv} chalazogamy
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flx}  An association of two organisms living
together and benefitting each other is
called

9@g Q9 @QUel 8 AQQA]  AVING
ceQgel QRE RTA 9@ aaAg
QL]

(i} mutualism / QELIAINIGI
(i} saprophytism [ €]96QIF1GI
(iii) parasitism / AR

fiv) commensalism / &4

fc) The bacterium that converts milk into
curd is '

[IQG TRVEQ ATES QA NG
263

(i) Lactobacillus
RIEeIIgaY

{ii) Azotobacter
ZIERIESIYIPR

(iii} Rhizobium
QURERIPAL]

fiv) Clostndium
g§ean
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fdl Repressor protein is produced by

Qs Q8@ . Qi a4ge ?}]Fm-
1) regulator gene
FORe &a
(i) operator gene
CRNR IR
(i) structural gene
ReRIAe I

fiv) terminator gene
QTR B

fe) The capacity of a plant
4 new plant is called

WNe eRIEq 9 P°° @8 9§ odag
NI geiarg)

cell to give rise to

) totipotency
Qd3a91

(t) reproduction
Jdeae

(iti) budding
Sal=la

iv) regeneration
3 [al=S =T
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2. Correct  the statement of each  bit, if
necessary, by changing  the underlined GrouP—B
word only | =5=5
200N P6R, JEGIR 2°9Q 6QNIFe acg ¥-—Qwia

LORIT VY ACIIRE QR -

3. Write notes on any three of the following,
fa) The excessive growth of plants in water- cach with 2 to 3 important points : 23T
bodies due to enrichment of nutrients is qesiea 96 g NS geags ga odiQ, FORge

called bioremediation. n nag 6Aeaad BerITa T 6w :
SRNAAGPFIER WY QYR 6AIY 2Eew

ZiNe 98] RIeUtlIx guiaN| (a) Linkage
ANEE

fb} The departure of the species from a
population during a time period is
immigration. (b} Biofertilizer
SIQA°IIQ 6AITa @IF] QIR QARg c@eaIQ
deeediad grikii

f¢) Greenhouse effect
{¢) In protandrous flower, carpels mature QGRERIOG gae

earlier than stamens.
Qegrag U6 cfda geq Il alag
QUe @Gard|

{d) Single-cell protein
q@eigl gaaix
(d] The process of formation of RNA from

DNA is translation. fe) Parthenocarpy
TaeQ AIPIRCR JYo]g PN gRIAd| 29JcTee

(e) Bacteria mostly reproduce by gemmules.
QIRNGPLR QARINESE YYRX VIS IR (f} Endosperm
QeI Qéeala
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4. Differentiate between any one pair of the 6. Describe the process of DNA replication.

following with 3 to 4 important points ° 3%, G g9a0e gl ode eal
N g ¥& g9 Q@ «dia Adge oug
6QEC1O2 6aITd QPR GEVR QdIA : 7. Give an account of control of water pollution

@@ gq@e Fuae 9@ I9edl gele 9l

fa) Cleistogamy and Herkogamy

| )
Jaaoicd 8 gariaseiue 8. Give an account of the development of male

gametophyte in angiosperms.

ISR A6 P'YINYY TeI8 gGan g
Q4 gele @i

) Hvdroscere and Xerosere

QISR 8 AGAETRA

fc) Backcross and Testcross
20640q ASQd G AT ASAE

L
GroUP—C
oA
Answer any two guestions within 200 words each :
Tx2=14
606100 QOF 990 20 JGETIRT 00T AR FIEQ
Q?
5. Describe Mendel’'s dihybrid cross with a
checkerboard.
U CORACRIT QAINIDIER 6FEERSe J-aKad
SN @GR @l
H -
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